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AN AL AT
M sOHEXNS K
Sel SO EMEHH I
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
03 AlE 2 THHI 2,800 4,789 A 1,089
OsZHESZFHlA 2,800
Xl 2,800
MJIESNIUHSI| 3,628,000 2,621,427 1,006,573
Xl 2,505,000
e 1,123,000
SEZAAN 2L (5 LeHAR) 1,191,000 1,000,000 191,000
834,000
e 357,000
401 A& HIZ 201 8] 4,288 6,300 22,012
Xl 4,288
03 A& =2 THHI 4,288 6,300 22,012
OM4g SEZAX HEBAL
1,191,000,000& *0.36% 4,288
Xl 4,288
403 MtXISHHE A0l & 1,186,712 993,700 193,012
Xl 829,712
s 357,000
02 S 2SOH S A2 X HE AL B 1,186,712 993,700 193,012
Oix5 sESaA 243AY , 186,712
Xl 829,712
s 357,000
SESHX 283 (=8 LE8NF) 1,000,000 648,571 351,429
Xl 700,000
= 300,000
401 AIEHIZL 20 3,600 4,086 A 486
Xl 3,600
03 Al S THHI 3,600 4,086 A 486
E=58 sESEXN Z245AY
1,000,000,000& *0.36% 3,600
Xl 3,600
403 A X EHHS =0l A 996,400 644,485 351,915
Xl 696,400
[ia 300,000
02 SJ| 2SO0l CHEt At 2 X CH & AF I 996,400 644,485 351,915
Os=8 sE3dX 243AY 996,400
Xl 696,400
e 300,000
SESAX 43 (2EHYLRR) 480,000 0 480,000
X 336,000
i 144,000
AEHI &b 2,400 0 2,400
X 2,400
03 AlZ 2 THHI 2,400 0 2,400




D AE Al
D S0EXNY Y

D AJIES2XNEED]

SN HB .S (3H) - NBAY ofl &t o SSa HDE2
OzdH ==X 2483HAIY

480,000, 000& *0.50% 2,400
Xl 2,400

403 XX S S K201 A 477,600 0 477,600
Xl 333,600
= 144,000

02 BI2SOHUSX=2EEAFEHI 477,600 0 477,600
OzdH ==X 2483HAIY 477,600
Xl 333,600
= 144,000

AN HSUSAIE(EEZZ) 100,000 85,714 14,286
Xl 70,000
= 30,000

403 XX S M S K201 A 100,000 0 100,000
Xl 70,000
= 30,000

02 B/ 2S00 CHSHAH2 & CH & A H 100,000 0 100,000
Oz 923 A 100,000
Xl 70,000
= 30,000

HACAZE L (A0 HAA) 807,000 857,142 N50,142
Xl 565,000
= 242,000

401 Al HIL 200 2,000 5,400 A 3,400
Xl 2,000

03 A& 20 b 2,000 5,400 A 3,400
OaD&HA S EHHIALY 2,000
Xl 2,000

403 XX S S K201 A 805,000 851,742 N46,742
Xl 563,000
= 242,000

02 B3I/ 2SO CHSHAH2 & CH & AR B 805,000 851,742 N46,742
OO0 SEHHAIY 805,000
Xl 563,000
= 242,000

HAEYE ANEE2 S22 € B4 50,000 30,000 20,000

401 AIEHIL 200 50,000 30,000 20,000

01 A& HI 50,000 30,000 20,000
OdY ANd=E A % B 50,000

s 2= 10,022,123 6,547,990 3,474,133
Xl 140,000
o= 10,000
= 9,872,123

T E T AY 2,217,736 791,681 1,426,055




2N
X ZH -
L= B

el

AE T Al D
C2Y =S
ZTESEE MY

A - ER(EN) - AR - B of & o4 SSa HIDZ2
JIEE ZEAE 2,117,736 791,681 1,326,065
308 XXM SO0IH 1,000,000 0 1,000,000
07 X SHH2Z2ES = 1,000,000 0 1,000,000
ORNCBEH(HE~B5) Ha SaH 2
S (1) 1,000,000
401 AIEHIZ 2 I 1,117,736 791,681 326,055
01 A€ dl 1,115,000 788,464 326,536
Ogadz TzAHLaciHa ~8EY 190,000
OzZ& =7 FHl(4Hed) 90,000
OzZ& MH TM (5= 10kn) 60,000
OzZ& IMRII(4M = 3.0kn) 200,000
Ogd dE-28 £2 S (2T45H) 90,000
Ot gioh-bgE T8 EXH(2E215H) 90,000
Oubt =z&=3sd =+ FHl 40,000
Oozdg Zz&1854 =+ FHl 95,000
ORg 2E2sd OtAE2 IAM D] 90,000
O=z2d ZZ172d OtAE TN LT 90,000
Odd 2=9sd A2 e 80,000
03 Al€ 2 i bl 2,736 3,217 A 481
o2& I¥=2I 380,000,000& *0.72% 2,736
YBEANL SHOITHA CAAE 100,000 0 100,000
401 AIEBI L 2CHEI 100,000 0 100,000
01 A& HI 100,000 0 100,000
O IC~=285d2t &2 WL 100,000
SHEZSHEZZE ALY 2,924,968 1,675,000 1,249,968
et sOE T2 ALY 1,324,968 1,275,000 49,968
401 A& HI L RO 1,324,968 1,275,000 49,968
01 Al £ HI 1,320,000 1,268,920 51,080
OsHESZ IMRI(4MHH 1.2km) 100,000
OsHEST Xhd &M (50 =44 10km) 60,000
OsHEZ SEREHI(BM=H) 70,000
OEs &g-~otet T2 SZFH (22095 4) 90,000
Ogah 22 sHEEZ HEH(2E2015
o) 90,000
Ot (A~ E2H T2 X F(HZ1028H) 50,000
Og8& sHEX 20826 L& 80,000
OZ2F SHEZ 20738 OtAE IY R 70,000
O+ SHET 20158 L= =2 FHI 60,000
Oz SHEX 20434 OtAE IYRT] 100,000
O2s sHEER 20224 OtAZ I LD 80,000




2AN: HAEZ Al D
B c2o 2E
ol SHESHITE AY (B9 ®R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OULl sHEX 20126 OtAE2 TN 50,000
OUot sHEX 30258 5748 H| 40,000
ORz daAnzr JN=E(2lE20154) 200,000
O22d st 542t BEL (553045 4) 50,000
O2Y sHEX 30256 HS=2E2 &EX 20,000
O=22 A&t H2HEH| (2l =2018H) 30,000
O sHEZ 20356 OFAE TN 80,000
03 Al& 201 Y] 4,968 6,080 AT, 112
OsHEZ IV 3,528
O dAn W= 1,440
SC&D HEANE 1,600,000 400,000 1,200,000
401 Al B2 20 HI 1,600,000 400,000 1,200,000
01 A& HI 1,594,260 398,565 1,195,695
OF&N AENHE MW=z 1,594,260
03 Al& 201l 5,740 1,435 4,305
O&WN /A8ueE Hs
1,594,260, 000& *0.36% 5,740
CzusSotdA ¥ B4 1,746,244 1,509,756 236,488
Xl 140,000
& 10,000
= 1,596,244
ceA2el NP ALY 178,660 117,240 61,420
206 M =8l 178,660 117,240 61,420
01 X2 bl 178,660 117,240 61,420
AoHCHE K 122,500
— AU S 250,000& *200E 50,000
—AZ2((Aad) 170,000& *200= 34,000
—H&as 240U 150& *10,0000H 1,500
— e HAMAM 370,000& 100 37,000
O&Hl dZHl 4,000
— S e (=I12 25) 1,400 %2004 =103 2,800
—&d S((&ZIA 1E5) 1,200&*1004 =102 1,200
OZ2% - sHHEX AtES2 UM
24 ,000& =1,500% 36,000
OJIERIMH (&, 8IXE, HUE S) 2,000
O d™Hl &I (EAA, BESER, EXT
s) 3,500
OM&EZ Jdold g(1=) 260,000& *4 11 10,660
JlEt =2 A HI AL 1,364,584 1,047,516 317,068
201 LEr2 Y| 149,084 149,822 AT738
01 AFR2t2l bl 56,800 56,800 0




2N
X ZH -
L= B

el

M- BB (BH) - NEAY - BaS ofl &t o SSa HDE2
OSJIEsEe =2 15,0002 *300& X 4,500
OMA®N & 24 2|
7,000 »8H x50 2,800
OM&E&d & S2=7280 Xz 49,500
—Ms2(0.2mg JI=) 495,000 x50 24,750
—HITEZH(1E J|=F) 495,000& x50 24,750
02 35244l 92,284 93,022 A 738
03222 2 MA 19,720
- Asi B8 3,400
S22 (1TH) 1,000
COHEAXIL) 1,000
- AESS(1M) 500
- HNEsE(H) 500
S SAPI(1OH) 400
—MEXM &0 L 22| A 720
HIIR23 50,000& =128 600
MNOEER3 10,000 x12& 120
—0B0IEERY CCTVRE 22 (230HA 790H) 15,600
MRS 400,000 x12& 4,800
oYU R 3 900,000& x12& 10,800
ONMEXH 22IA e HA2HI(ER)
7002 x24 *6A| 2100 840
OA & &Hl S XYl 11,000
—dsSZ22d 1,000
—3YEDl, OI=D], JIHS, s2222)| 1,000
— D0 FDII HEFY 1,000
— HMAEYI(HMAD 3, AXLD| 3, WEHI| 1) 3,000
— 248 M=) 3,000
—H&EXHED L 22/AF KX 2,000
OR+ & Hl 60,724
— &322 (1) 13,000
—LCHIEAIOO) 25,000
— AESI2(1) 3,315
—FEs=2(100) 3,909
— 24D (1H) 15,500
203 ¥ R =&t 1,500 1,500 0
03 Al E R Q@A Yl 1,500 1,500 0
ORMYNACZ U DY ALYL £X S 1,500
401 Al HI L 2 0HHI 1,214,000 880,000 334,000
01 Al&H| 1,214,000 880,000 334,000
Otz H& 20,000
OEAN 82 &X(3HEH) 30,000
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EXN: AA T Al
Hm: C2o sE
el AL (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O&EIIR2 60,000,000 x12& 720,000
OSHNQI (LS E24) 70,000 «128 840
OJz2S BE4x B8 500
OELXNIRERES) NS A 22 Y|
6,000,000 «1CH 6,000
206 M = dl 35,400 40,000 A 4,600
01 X2 4l 35,400 40,000 A4 600
OJMN2s B4 L (HEEII2 108) 20,000
OBotsS ersr T HI| 2 770,000 204 15,400
401 AlEHIZL £ 0HY| 301,000 245,000 56,000
01 Al&H| 301,000 245,000 56,000
O&l7F LED JI2E &X 1,000,000& x70S 70,000
OL% JI2S LED WAl 1,000,000 x50 50,000
OJR2E SdAMZ DA & B 20,000
OsLsHIH IF&H XY B4 7,000
Odacs(4d - o0t - &0]) JI2E = 12,000
OYHAHd SEI2 LEDIIZS &X
4,000,000 x20S 80,000
O%Z ANIK &2 FEIIZE &M
350,000 120 42,000
oY F Jizgs &X 1,000,000& x20S 20,000
WEFXA 7,120 6,712 408
101 e1214| 7,120 6,712 408
04 JI2ZtHI22NEE S 7,120 6,712 408
OusS& XA 51,760 x2H %21 A~ 31 CH 6,522
O1nE - AMHEE2 6,522,000 %2 . 4% 157
OuWESE AN OE 2HAH] 3,500 x126H 441
AL8IH SR 1,045 1,045 0
201 gBt2Ad| 1,045 1,045 0
01 AP 2t 2| H| 1,045 1,045 0
OAHEINHESAI HES EEX HZ
1,650 *5000H 825
OAHEINHESAI HE S =X HE
4403 *5000H4 220
S -0E MESH NEAME 2,025,000 1,020,000 1,005,000
S - 0E EHMNE ASD|E AIY 2,025,000 1,020,000 1,005,000
401 Al HI L 2 0HHI 2,025,000 1,020,000 1,005,000
01 Al& H| 2,025,000 1,020,000 1,005,000
Og9Z 24 =2 & 30,000
ORY I =2 A4 30,000
O M JHAH BH=2 A H| 30,000
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PN AL AID
M TANLAY
S ZHEANEAY

SH-HH . B(SH) - HBAMY - B2 o A o SSa HDE2
206 M = Hl 4,000 4,000 0
01 & bl 4,000 4,000 0
OANIMREZ 218848 St ¢ 4,000
401 Al HI L £ 0HHI 750,000 380,000 370,000
01 A& HI 746,425 380,000 366,425
OAIIX =8 & 198,570
OAMNIIX E241 B4 99,285
OAIX =28 G2 198,570
OBAdH ATHA &2 IM2] 150,000
OE2HHALZE & 100,000
03 A& 20 b 3,575 0 3,575
OZAHEETZ RIAE 496,425,000 *0.72% 3,575
FXEE A X3 A 2,900,000 1,400,000 1,500,000
N 1,450,000
= 1,450,000
401 Al HI 2L 2 0HHI 2,900,000 1,400,000 1,500,000
Xl 1,450,000
= 1,450,000
01 A& HI 2,889,597 1,394,978 1,494,619
OHDIY =Y =XEY EX3A 2,889,597
Xl 1,439,597
= 1,450,000
03 Al 2 0] 10,403 5,022 5,381
OHOIY =Y =XES AX3A 10,403
Xl 10,403
S AE2 DA AL 50,000 0 50,000
401 Al HI L 200 50,000 0 50,000
01 A& HI 50,000 0 50,000
Og4d ol F2axy AX| 50,000
=NFB-EE OIIE TR2HEBA 800,000 0 800,000
401 Al HI YL 2 0HHI 800,000 0 800,000
01 A& HI 794,991 0 794,991
O=sMF2-2FR0ILE &2 ME 794,991
03 Al& 201 Y] 5,009 0 5,009
O=sMF3~2FAA0IUE &2 W
794,991,000& x0.63% 5,009
g&e ZAHE 2L 1,000,000 0 1,000,000
401 AIEHIL 20| 1,000,000 0 1,000,000
01 Al& Bl 993,739 0 993,739
Odgdae ZHEEZZ W& 993,739
03 A& 20HYI 6,261 0 6,261




PN AL AID

M TAINEAE

SR ZASAIEAY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ogdel 2AH=EZZ M4
993,739,000& *0.63% 6,261
S22 T2 E S A 350,000 0 350,000
401 Al HI K 201 350,000 0 350,000
01 A& tI 347,498 0 347,498
Oxgsala-gd =2 4 347,498
03 A& =2 THHI 2,502 0 2,502
ORgaa-gd8 =2 e
347,498,000& *0.72% 2,502
F2=H~AS2HI2t E2H4 400,000 0 400,000
401 A& HIZ 201 Y] 400,000 0 400,000
01 A& HI 397,140 0 397,140
OF2=HI~AE823H &2 N4 397,140
03 A2 2 THHI 2,860 0 2,860
F2=H~AES3H &2 N4
397, 140,000& *0.72% 2,860
sgEsLd3~sFHute2 AEFH 1,100,000 0 1,100,000
401 AIEHI L 2 CHYI 100,000 0 100,000
01 A& HI 100,000 0 100,000
O=g&23~s83uiz s i 100,000
403 MHXSHHSA=0l& 1,000,000 0 1,000,000
02 I 2S0ICHet A== OH & A H 1,000,000 0 1,000,000
O=E=L3~stH Uiz NSHZ AL (SHE A
H2d¢32) 1,000,000
HE2AZH (AL AID) 191,316 198,062 AB,746
el 2 127,216 111,938 15,278
oI 24| 127,216 111,938 15,278
101 124l 127,216 111,938 15,278
01 2= 120,938 107,814 13,124
OAN2LA2RSY HHZ(26Y) 29,025
— 6= 10,6823 «5H «10Al 2t 128 6,410
A= 9,649 10 «10Al 2tx 1228 11,579
— 8= 8,663 «7H +10Al 2t<123 7,277
- 9= 7,830 *4H «10Al 2tx 1228 3,759
Ooxzuz2=e+¢ 9,206 26 *32A1 2t«12& 91,913
02 JIEtE B == 4,478 4,124 354
OHAZ FH(1564~234) 4,478
— Ao 2RLT(FuE)
8,883 1P *10Al 2t+12& 1,066
—ZUZRE 8,883& x1H «32Al 2tx 128 3,412
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